Sr Questions Answers Choice

A. 7369
7569
7669
7469

1 (87)2=

9948
9949
9951
9950

. X -intercept
. y-intercept
. z-intercept
None

3 The point where the line intersects the x-axis called

|

1
Il
|\

4 The Point (-7,-1) lies is

|

I
1]
v

5 Point (1,-5) lies is.

|

I
1]
v

6 The point (2,5) lies in............ quadrant.

(+%)
(+|')
(=)

-*)

Ordinate
Origin
Abscissa
Plane

7 In ll-quadrant th signs are used.

8 In (xy), x called

8
9
11
12

9 If x=2 then value of 3x +5

1
Many
2
4

10 How many type sof polynomials
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